[NEREXE SHEEEF AR SR GEER)]
= 1EI=1070M 5kt
BXE ESTI HIA
F—ERAE HF—E RIBAHES g | gkpg ||DEEO| ZNRE0) SHAERO
E%E{;'ﬁﬁgl - 1A= DE205 K 302 3231 324 647 970
;gﬁiﬁﬁﬁ% I—2- 1[EIZDE305 K 450 4815 482 963 1445
E%%ﬂggl_ : :%:ﬂ;;?ﬁwﬁui 792 8474 848 1695 2543
E%?g'ﬁgg I =4 :%;;%%;E%ﬁui 1,087 11630 1163 2326 3489
1EZDEF207 UL L
- 18 l:zﬁlfﬁﬁz_f:ii?g%:jé
BERETICES 50/100IAR L DEMHMEH T
NEFHFBER FIRBAE 12 B RO R EE N BT 283 3028 303 606 909
REEEToEBAIE 1EIZDES
BAEHE
EME FRRICSHREELTIRELGSE 300 3210 321 642 963
TARESLEELTEELEFICHIT
B RIEEME DHELIEEET., TORNBEXE 600 6420 642 1284 1926
[C&KVIRHL-5E
EEENESEEREEEETZIT
ﬁ%ﬁ;ﬁqf?zlfff@) ‘CL\%#k%\b%Em‘-——ﬂb%{& 500 5350 535 1070 1605
- ALTWSRETHDZE
EERRBEEEECHLLEET l‘f’C
ﬁ%ﬁ;ﬁgf?fi%) WBIKEPEREEZ SEEDIKE 250 2675 268 535 803
- THdHE
RBBIHEAEENS I 17BIZ2E1EEE 574 6141 615 1229 1842
iy 47 = 1EIZOEEHBDOFEMEN—A
t%(%ﬂ;\%;@g;.;}%gﬂugI gﬂlﬁﬁ%‘l ZREEETOIESIC 254 2717 272 543 816
! E
iy 47 = 1EIZOEEHBDOFEMEN—A
%%j@”?gémgl gﬂlﬁﬁ%‘l ZREEETOIESIC 402 4301 431 861 1291
E
iy 47 = 1EICOEFEMEFTE/BEN—A
%%ﬁggémﬁﬂ g%nlm%: SREEETOIGSIC 201 2150 215 430 645
! iE
4 = E 1@':O§Eu§ﬁﬁt§n§*ﬁ%%b\_
%%fﬁl%émgu gﬁﬂﬁﬁ%l SREEETOIGSIC 317 3391 340 679 1017
iE
REMGFEEENE ijﬂ%%ggg%mﬁmﬁ%ﬁaoﬁ 300 3210 321 642 963

[FIREFIRAEGIEEHAE]
Hbtef B x B =0 O (1RSI T)
OOH—(OOM x(0.9080.7) 1ARFIYET))=AAH(FIFAEAIELE)

XAHEASHEHEEDFS:0. 9. 288EN5E:0. 8. IFNEHEDHE:0. 7

KAEGHMRIEENEE, ERENELEVEQUET FLUIBHSE TSI,
KIRDREAMEEME [ I TFHEENE [ - TIRATRBEREBEICEETNLGVS—EREGYFET,

REBBSNOY—ERREOZHAH  (BikE)
1 ToEI77 20,000
2 W OO TN A B 2 TT O B EFICE LI Rl B 3 I @B 2 R L7 5603

DEREHIT S
HEVEOSAITE T O TR A B /2L ZAND FEIF e Y7210 & T 5



